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“One portal to rule them all”



“One portal to find them”



“One portal to bring them all”

ΩSM→N1︸ ︷︷ ︸
SM scattering

+ Ωϕ→N1︸ ︷︷ ︸
inflaton scattering

∼ 0.1
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• Gravitational reheating+Trh ≳
TBBN =⇒ ωϕ ≳ 0.65 (stiff era)

• ∆Neff forbids excessive
blue-tilted primordial GW:
ξh ≮ 0.5

• Gravity portal naturally provides
PeV-scale decaying DM →
IceCube excess
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“... and (in the darkness) bind them”

• Minimal gravity mediated DM+BAU+reheating

• Possible explanation to IceCube events

• Testable at future GW detectors

Many thanks to the organizers
& Thank you for your attention!
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BBN bound on reheating temperature

ρϕ = ρR at T = Trh
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Interactions
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GW energy density

• Assuming “hc” occurs during inflaton-domination
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